
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

(حساب الأسس (الأس السالب

(−3) − 7 =0 (−8) − (−10) =2

(−4) − 8 =(−2) (−1) + (−7) =(−2)

5 + 1 =(−1) 3 + (−6) =

(−1) − (−9) =(−1) (−8) − (−1) =

4 − (−3) =2 3 + (−7) =(−2)

2 − (−9) =2 3 + 6 =(−1)

(−8) + (−1) =2 (−3) − 9 =2

4 + 4 =(−2) (−9) + (−9) =2

2 − 5 =(−1) (−8) + 4 =(−1)

(−9) + (−7) =2 (−6) − (−8) =(−2)
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(−3) − 7 = (−6)0 (−8) − (−10) = 742

(−4) − 8 = (− ) = (−7 )(−2)

16
127

16
15

(−1) + (−7) = (−6)(−2)

5 + 1 = = 1(−1)

5
6

5
1

3 + (−6) = (−3)

(−1) − (−9) = 8(−1) (−8) − (−1) = (−7)

4 − (−3) = 192 3 + (−7) = (− ) = (−6 )(−2)

9
62

9
8

2 − (−9) = 132 3 + 6 = = 6(−1)

3
19

3
1

(−8) + (−1) = 632 (−3) − 9 = 02

4 + 4 = = 4(−2)

16
65

16
1

(−9) + (−9) = 722

2 − 5 = (− ) = (−4 )(−1)

2
9

2
1

(−8) + 4 = = 3(−1)

8
31

8
7

(−9) + (−7) = 742 (−6) − (−8) = = 8(−2)

36
289

36
1
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